Derivatives of Logarithmic Functions
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1. Suppose f(1)=2, f'(1)=3,and f'(2)=4. Then (f*)(2)="
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2. Suppose Yy = f(x) =2x°-3x. If h(x)is the inverse function of f, then h’(-1) = ?
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3. If f(x)=x>-3x*+8x+5and g(x) = f *(x), then g'(5) =?
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4. Find g—y if y=In(secx+tanx).
X

d
g dy_ 1

X Secx

2

C —y=tanx Sec X

dx tan x
p ¥t

dx secx+tanx
e W1

dx Sec X + tan x



5. Find dy ify= In(\/x2 +1).
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7. Find dy if y=xIn®x
dx

dy _3In’x
dx X

B. d_y: 3In? x
dx

dy
dx

D. dy =3(Inx+1)
dx

=3In*x+1In®x

E. None of these



